Number systems




Number system:

Positional

Number Radix Symbols
system

Decimal 10 0,123,4,5,6,7,8,9

Hexadecimal 16 0,123,45,6,7,89,A,B,C,D,E, F
Binary 2 0,1

Unpositional




The essential features of a

number system are

1. Used symbols

2. Radix (b)
3. Representation Sene
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Conversion
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Integers Fractionals .

19,,= 10011, 9.22102= E).gleégz
19:2=9 rest 1 0.36%2 = . 72
9:2=4 rest 0.72*2 = . 44
4:7=2 rest 0.44*) = . 88
2:2=1 rest 0.88*2 = . 76
1:2=0 rest
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* Represent 53,64, in binary, octal and hexadecimal
number systems
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Convert number
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Convert number
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Convert number
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Convert all terms in result number system and solve
the expression
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